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Section C

Answer one question from this section.

QUESTION 5

5 (a) Study Fig. 7, which is a graph showing information about the average employment structure 
of LEDCs and MEDCs, along with Photographs D, E and F (Insert).
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Fig. 7

  (i) Plot a cross on Fig. 7 to show the following information about the average employment 
structure of NICs:

   Primary 20%;
   Secondary 30%;
   Tertiary 50%. [1]

  (ii) Match Photographs D, E and F (Insert) with the descriptions in the table below.
   Write the letter of a photograph alongside the correct description.

Letter (D, E or F)

Primary industry in an LEDC

Secondary industry in an MEDC

Tertiary industry in an NIC
 [2]
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  (iii) Using information from Fig. 7 only, compare the average employment structure of an 
LEDC and MEDC.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 .......................................................................................................................................[3]

  (iv) Suggest reasons for the difference in employment structure between LEDCs and 
MEDCs.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 .......................................................................................................................................[4]
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 (b) Study Fig. 8, which is a map showing information about Ferrero, a transnational corporation 
(TNC) which produces Nutella chocolate spread.

Key
headquarters
main raw materials
factories
main sales offices

Brantford,
Canada

France
(sugar and

vanilla)

France
(sugar and

vanillin)

Turkey (hazelnut)

Malaysia (palm oil)Malaysia (palm oil)

Villers-Écalles,
France

Stadtallendorf,
Germany

Vladimir,
Russia

Belsk,
Poland
Belsk,
Poland

Alba and Sant’Angelo
dei Lombardi, Italy
Alba and Sant’Angelo
dei Lombardi, Italy

Brazil (sugar)Brazil (sugar)

Los Cardales,
Argentina

Los Cardales,
Argentina

Lithgow,
Australia
Lithgow,
Australia

Poҫos de Caldas,
Brazil

Nigeria (cocoa)Nigeria (cocoa)

Fig. 8

  (i) Using information from Fig. 8 only, explain how the TNC (Ferrero) shows evidence of 
globalisation.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 .......................................................................................................................................[3]
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  (ii) Explain why globalisation has occurred.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 .......................................................................................................................................[5]
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 (c) For a named example you have studied, describe the impacts of a transnational corporation 
(TNC) on an LEDC.

  Name of transnational corporation (TNC) .........................................

  Name of LEDC .........................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...............................................................................................................................................[7]

 [Total: 25 marks]

END OF QUESTION 5


